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1. The slope of x-axis is

(i) 1 (ii) -1 (iii) undefined (iv) 90 (v) O

2. The slope of y-axis is

(i) -1 (ii) undefined (iii)) 1 (iv) 90 (v) O

3. The slope of the line joining the points(6,(—3))and((—4),1)is
M 2y G 2y i o v (2) W (D)
5 3 7 5
4. The slope of the line perpendicular to the line passing throughthe points((—=6),5)and(3,3)is
17

(i) —— (i) ! (iii) 2 (iv) i (v) 5
o ) oG o v (v

5. The slope of a line parallel to the line(—=x—6y—37)=0is

(i) (j) (i) ! (iii) (j) (iv) (i) (v) (j)
(g () o i) () (v) (o) v) (5

6. The slope of a line perpendicular to the line(7x+11y—31)=0is
11 9 9 13 13

(i) - (ii) 5 (iii) 7 (iv) Z (v) 9

7. The equation of the line passing throughthe origin andhaving a slope m#=0 is

(i) x=0 (i) y=0 (i) y=mx (iv) y=mx+c (v) x=my+c

8. The equation of the line with slope m=0 and y-interceptc=0 is

(i) x=my+c (ii) x=0 (iii) y=0 (iv) y=mx (v) y=mx+c

9. Find the x-intercept of the line(x—1)=0
(i) 1 (i) 3 (i) 2 (iv) -2 (v) O

10. Find the y-intercept of the line(—x+15y+22)=0

(i) (ﬁ) (i) (E) (iii) (E) (iv) (2) (v) (f)
3 15 13 17 5

5 2
11. The equation of the line with x-interceptg and y-interceptg is

(i) (25x+16y—10)=0 (i) (16x+25y—10)=0 (i) (56x+65y—91)=0 (iv) (16x+65y—26)=0

(v) (56x+25y—35)=0



12.

13.

14.

15.

16.

17.

18.

19.

The equation of the line passing through the points(6,(—6))and(0,1)is

(i) (11x—y—-72)=0 (ii) (7x+6y—6)=0

(i) (4x—=7y+7)=0

(iv) (x+9y-52)=0

The equation of the line passing through the point(5,8)and slope 3 is

(i) (2x+13y—25)=0 (ii) (—-6x+2y+14)=0

The equation of the line with slope 5 and y-intercept2 is

(iii) (=7x=y+43)=0 (iv) (=x—=3y+9)=0

(i) (3x+7y—-14)=0 (ii) (=5x+y—2)=0 (iii) (=2x+8y—-54)=0 (iv) (=3x+y—-26)=0

The equation of x-axis is

(i) y=x (ii) y=0 (i) y=1 (iv) x=0 (v) x=1

The equation of y-axis is

(i) y=1 (i) y=0 (iii) x=0 (iv) x=1 (v) y=x

The slope of any line parallel to x-axis is

(i) -1 (ii) 90 (iii) 1 (iv) undefined (v) zero

The slope of any line parallel to y-axis is

(i) undefined (ii) 1 (iii) -1 (iv) zero (v) 90

Find the x-intercept of the displayed line
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20. Find the y-intercept of the displayed line
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(i) 2'2 (i) -8 (iii) ('-1) (iv) 3
) 23 (i) -8 (i) (5) (v

21. Which of the following are true?

22.

23.

a) Equation of the line passing through origin is y = x

C

)

b) Equation of the line passing through origin is y=mx
) Equation of the line passing through origin is y=mx+c¢
)

d) Equation of the line passing through origin isy = mx +8

(i) {d,b} (i) {a,b} (iii) {c,a} (iv) {c,d,a} (v) {c,b,a}

Which of the following are true?

a) The ordinate of every point on x-axis is zero

C

)

b) The abscissa of every point on x-axis is zero
) The abscissa of every point on y-axis is zero
)

d) The ordinate of every point on y-axis is zero

(i) {b,a} (i) {b,c,a} (iii) {b,d,a} (iv) {d,c} (v) {a,c}

Which of the following are true?

a) A vertical line other than y-axis has no y-intercept
b
C

A vertical line other than y-axis has no x-intercept
A horizontal line other than x-axis has no x-intercept

)
)
)
)

d) A horizontal line other than x-axis has no y-intercept

(i) {b,a} (i) {a,c} (i) {d,c} (iv) {b,c,a} (v) {b,d,a}



24. Equation of the line passing through a given point(x;, y;) and having slope mis

a) (y—y;)m=(x— x;)

b) None of the above

Q) (y—=y;) =m(x— x;)

d) (y = x;) =m(x - y;)

(i) {d,a,c} (i) {a,c} (i) {b,c} (iv) {c}

25. Equation of a straight line which is parallel to x-axis (where k is a constant) is

(i) x=k(ii) x=0(iii) x=y(iv) y=k() y=0

26. Equation of a straight line which is parallel to y-axis (where k is a constant) is

(i) x=y (i) x=0(ii) x=k(iv) y=0() y=k
27. If ax+ by+c= 0is a straight line, the x-intercept is

-C -C
(i) ¢ (i) a (iii) (iv) b (v)
a b

28. Ifax+by+c= 0Ois a straight line, the y-intercept is

29. The slope of the line ax+ by+c= 0is

-b -a
(i) a (ii) (iii) ¢ (iv) b (v)
a b

30. In equation of the line y=mx+c, the slope is

(i) y (ii) c (iii) undefined (iv) x (v) m

31. In equation of the line y=mx+ c, the y-intercept is

(i) c (ii) y (ii) x (iv) m (v) undefined
32. Write the given equation(3x+6y—3)=0in y=mx+cform

(i) —(—'1X—'1) (i) y=(- +'1) (iii) —(—'1X+'1) (iv) —(—'1X+'1) (v) —(—'1X+'3)
|y—22||y—,\'2|||y—22|vy—42vy—22

1 20
33. Write the given equation y=(3X+ 3 ) in ax+ by+c= 0form

() (—sxty=22)=0 (i) (—2x+3y="0)=0 (i) (~2x=2y=20)=0 (V) (—2x+y—-2)=0
| 5 y 3 = 1] 3 y 3 = 1l 3 y 3 = v 3 y 3 =

20
(V) (=x+y- 3 )=0



34. Find the equation of the displayed line

4

g

(i) y=(-1)

(i) y=0 (iii) x=(-1)

4

35. Find the equation of the displayed line

4

(#]

(iv) y=(=2)

(v) 3y=(-1)

2

(i) x=6

(i)

x=4

(iii) x=5

4

(iv) y=5

(v)

4x=5




36. Find the equation of the line passing through the points((—2),(—4))and(0,4)

M &

v ’

(i) (=8x+2y)=0 (ii) (9x—2y+8)=0 (iii) (-8x+2y—10)=0 (iv) (7x=2y+8)=0 (v) (8x—2y+8)=0

37. Find the slope of the displayed line

. . A -2
(i) 0 (ii) -2 (iii) (3) (iv) (=) (v) (=)



38.

39.

40.

41.

42.

43.

44,

The equation of the line in slope intercept form is

a
b
C
d

X=cy+m
y=cx+m

)
)
) x=my+c
)

y=mx+c

(i) {b,d} (i) {ad} (i) {cad} (iv) {d}

The equation of the line in point slope form is

a) (y— y;)m=(x— x;)
b) (y— x;) =m(x - y;)
c) (y; = yYym=(x; + x)
d) (y = y;) =m(x - x;)

(i) {a,d} (i) {b,d} (i) {d} (iv) {c,ad}

The equation of the line passing through the points(x;,y;) and (x,,y,) is

a) +
(y—y) =227 = x)
X; t X;
b) X2~ X1
(x — x,) = (y—=yp)
1 yz_ ) 1
c)
(y—y1)=y2 l(x—xl)
X2 — X
d) X5+ X
(x=x;)=2—"Ly-y)
Yo+ y;

(i) {b,c} (i) {a,b} (i) {d,c} (iv) {a,c,b} (v) {a,d,b}

The equation of the x-axis is

(i) {c,b} (ii) {d,eb} (iii) {ab} (iv) {b}

Find the equation of the line through(5,(—1))and y-intercept 2

(i) (3x+5y—10)=0 (ii) (3x+8y—=10)=0 (iii) (x+3y—2)=0 (iv) (x+5y—=2)=0 (v) (2x+5y—-10)=0

Find the equation of the line through((—1),2)and x-intercept 5

(i) (3x—y+5)=0 (i) (=2x=3y+10)=0 (i) (3x+2y+5)=0 (iv) (-3x—6y+10)=0

(v) (=2x—6y+10)=0

Find the x-intercept of the line passingthrough points((—4),(—6))and((—8),(—=5))

(i) -25 (i) -28 (iii) -31 (iv) -29 (v) -7



45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

Find the y-intercept of the line passingthrough points((—=8),(—3))and((—=7),(=5))

(i)

-20

(i) -22

(i) -19 (iv) (-92
' )

) (v) -17

The slope of the line passing through the points(x;,y;) and(x,,y,)

(i)

X, + X5

Yo+ y;

(ii

)

(iii)

X5 —

Y3

(iv)

X, —

Yo

X1

Y3

X5 +

Yo+

Y1
X1

((=1),4),((=4),(—6))and((=7),(—=7)) are the vertices of triangle ABC.
Find the equation of the altitude of the triangle through vertex C

(i) (3x+8y+91)=0

(v) (3x+y—1)=0

(i) (6x+11y+90)=0

(iii) (3x+10y+91)=0

((=6),(=2)),(3,(—6))and(1,0) are the vertices of triangle ABC.
Find the equation of the median of the triangle through vertex C

(i)

11
(-=5x—
2

(v) (x+8y+22)=0

y—=18)=0 (ii)

(ax-Ly-a)=0 (i
x2y = i

i) (4x—2y—4)=0 (iv) (4x—§y—4)=0

(iv) (3x+13y+91)=0

Equation of the line passing through origin and the point of intersectionof lines(12x—y—77)=0and
(4x—-2y—-34)=0

(i) (2x=7y—37)=0

(i) (2x=5y—37)=0

(iii) (=5x=6y)=0 (iv) (-=5x—3))=0 (v) (-6x—6y)=0

Equation of the line passing through(3,1)and the point of intersectionof lines(10x—7y—4)=0 and
(5x—8y—-11)=0

(i) (=3x+6y+5)=0

(i) (=2x=2y)=0

(iii) (=4x+4y+5)=0 (iv) (-3x+4y+5)=0

Convert the line equation ax+ by+ c= 0into slope-intercept form

(i)

C
= - X—
ya b

. -b
(i) y=-
a

d
X_.
b

b

b
(iii) y=-x—- (iv)
a C

-a

C
= X—
Y b

Convert the line equation ax+ by+ c= 0into intercept form

(i)

5 )
E W
C C

X+ Y =1
LI (iv)
-C -C

The points B(0,6)and D((—8),8) are the opposite vertices
of a square ABCD. Find the equation of the diagonal AC

(v) (=2x+y)=0

X 3 Y =1 X+¥ =1
S MG
a b C C

(i) (8x—2y+46)=0 (ii) (2x+5y—48)=0 (i) (7x—2y+46)=0 (iv) (2x+8y—48)=0

Find the point of intersection of (3y+12)=0 andthe line joining points(3,(—7))and(3,8)
(iii)y (4,(=5)) (iv)

(i)

Find the point of intersection of (—6x+12)=0 andthe line joining points((—7),(—1))and((—6),8)

(i)

(5.(=2))

(3,79)

(if)

(if)

(1,81)

(2,(=3))

(iii)

(0,78)

(iv)

(4,82)

(1.(=6)) (v)

(v)

(2,80)

(3.(—-4))

(v)

(8x+46)=0



56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

Find the relation between x and y such that the point P (X, y) is equidistant from points(0,(—3))and((—4),(=5))
(i) (4x+2y+16)=0 (i) (3x+2y+16)=0 (iii)) (7x+3y+9)=0

(iv) (7x+y+9)=0

(v) (4x+4y+16)=0

The equation of the line passing through((—6),4) andhaving the same y-intercept as(11x—4y—64)=0is

(i) (=20x—-3y—96)=0

(v) (=2x+12y—68)=0

(i) (=2x+14y-68)=0

The slope of a line is the tangent of the angle made by the line with the

(i) positive x-axis (ii) negative y-axis (iii) negative x-axis (iv) positive y-axis

Find the relation between x and y if the points(x,y),(2,(—=6))and(7,1)are collinear

(i) (3x+y—-22)=0

(v) (7x=5y—44)=0

(i) (6x+2y—44)=0

(iii) (4x—6y—44)=0

If the equation of a line is y=mx+ c,what is the intercept form of the equation?

S MG WMo
m -C -C (@

Which of the following lines pass through the origin?

(i) (=9x+4y-43)=0

(i) (4x+y—6)=0 (iii)) (3x—9y—-24)=0

Which of the following lines do not pass through the origin?

(i) (=5x+2y)=0

Which of the following equations satisfy the given points((—2), -

(i) (8x—6y)=0

(iii) (3x+2y)=0

(i) (=11x-17y+54)=0 (ii) (2x+3y—-1)=0 (iii)) y=7

Which of the following equations satisfy the given points

(i) (—10x—12y—6)=0 (i) (8x+5y—4)=0

76

17 )r((_l)r

(iv) x=9 (v) x=(-17y+-

7
Which of the following equations satisfy the given points((—2),2),((—=1), '6

(i) (=14x=5y—12)=0 (i) y=(-2)

(iii) —(—'14X+4)
i) y= s s

1

(iv) (2x=y)=0

(iv) (=5x+8y+30)=0

(iv) (=3x—y+22)=0

)1(0,' )r(lr

17

(iii) —(—SX—-S) (iv) x=(-=3)
Y=176""3 B

17

11 76)
17

(v) (=3x=2y)=0

(iv) x=1 (v) (5x+6y—2)=0

Which of the following equations satisfy the given points((-2),3),((-1),3),(0,3),(1,3),(2,3) ?

(i) x=(

6 4
7)/7

)

(i) x=2

(i) y=3

(iv) (8x+7y—2)=0

W) y=(—ox+
V) y= 7

33

; )

(iii) (=20x—6y—96)=0 (iv) (-21x—-6y—96)=0

(v) (2x+4y—-10)=0



67. Which of the following equations satisfy the given points(4,(-2)),(4,(-1)),(4,0),(4,1),(4,2) ?

. . 18 188 ]
(i) (=18x—=11y+9)=0 (ii) (3x+6)—2)=0 (iii) x=(11y+ 11) (iv) y=(-8) (v) x=4

68. Which of the displayed lines represent the equation(5x—5y—25)=07?
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(i) line with pointU (ii) line with pointT (iii) line with pointW (iv) line with pointV (v) line with pointS
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69. Which of the displayed lines represent the equation y=(—-9)
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(i) line with pointT (ii) line with pointR (iii) line with pointU (iv) line with pointV (v) line with pointS

70. Which of the displayed lines represent the equation x=(-5)
4 4 ¥ S 4

(]

=]

¥ ¥ y 3 ¥

(i) line with pointO (ii) line with pointQ (iii) line with pointP (iv) line with pointN (v) line with pointM



5
71. Which of the displayed lines represent the equation y=(3x—1)
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(i) line with pointT (ii) line with pointQ (iii) line with pointR (iv) line with pointS (v) line with pointU



6
72. Which of the displayed lines represent the equation y= 7x
o] v

8 A
; P /]
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e £
¢ :

(i) line with pointR (ii) line with pointS (iii) line with pointQ (iv) line with pointU (v) line with pointT

73. Find the coordinates of the orthocentre of the trianglewhose vertices are((—4),(=2)),(6,0)and((—=6),(—6))

(i) ((—29) 25) (i) ((—23) 19) (iii) ((—'20) '28) (iv) ((—32) 16) (v) ((—26) '22
! 373 3703 W 3030 W 3737V 3773

74. The point of intersection of x-axis and y-axis

(i) (0,8) (i) (1,0) (i) (0,0) (iv) (2,0) (v) (1,1)

75 KM is the straight line of length v37 units. If K has the coordinates(8,7)and M has coordinates (k,1),

find the possible values of k

(i) (11,9) (i) (10,6) (i) (7,5) (iv) (9,7) (v) (8,8)

76. Find the point of intersection of x-axis andthe line joining points(6,(—6))and(3,4)

) . 21 21 )
(i) (14,0) (i) ((—-5 ),0)  (iii) (-5 ,0) (iv) (0,(—14))

77. Find the point of intersection of y-axis andthe line joining points((—7),7)and(3,5)

. . 28 28
(i) ((—28),0) (ii) (0.(—-5 )) (i) (O, 5 ) (iv) (0,28)

78. The points B(1,2)and D((—9),2) are the opposite verticesof a square ABCD. Find the other two vertices
(i) ((=3),(—=4)),((=4),7) (i) ((—=4),(=3)),((=5),8) (iii) ((=4),(=3)),((=4),7) (iv) ((=2),(-1)),((—=4),7)
(v) ((=6),(=5)).((—-4),7)



Assignment Key

1) (v) 2) (ii) 3) (v) 4) (iii) 5) (iv) 6) (i)
7) (iii) 8) (v) 9) (i) 10) (ii) 11) (ii) 12) (ii)
13) (ii) 14) (ii) 15) (ii) 16) (iii) 17) (v) 18) (i)
19) (iv) 20) (ii) 21) (ii) 22) (v) 23) (ii) 24) (iv)
25) (iv) 26) (iii) 27) (iii) 28) (iv) 29) (v) 30) (v)
31) (i) 32) (iii) 33) (iv) 34) (i) 35) (iii) 36) (v)
37) (v) 38) (iv) 39) (iii) 40) (i) 41) (iv) 42) (i)
43) (v) 44) (ii) 45) (iii) 46) (ii) 47) (iii) 48) (iii)
49) (iii) 50) (iv) 51) (iv) 52) (iv) 53) (i) 54) (v)
55) (v) 56) (i) 57) (iii) 58) (i) 59) (v) 60) (i)
61) (iv) 62) (iv) 63) (i) 64) (iii) 65) (v) 66) (iii)
67) (v) 68) (v) 69) (ii) 70) (v) 71) (ii) 72) (iii)
73) (v) 74) (iii) 75) (iv) 76) (iii) 77) (iii) 78) (iii)
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